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FINAL ANSWER KEY

Paper: 058 - The Indian Penal Code - Criminal Judicial
Date of Test 30-11-2023
Question1:-The term which is not explained in the chapter-Il of the Indian Penal Code, 1860
1860-621 oy welesomleacslmen @6l @RWRWEMI@ allueEle:@lErITD alGo
A:-Bad faith
€20Wo QflUBIoMYe
B:-Mens rea
oMY dlo
C:-Crime
BYHOYp
D:-All the above
AHE@D A0SV
Correct Answer:- Option-D

Question2:-Every person has a right of private defence of the body and of property, subject to the restrictions contained in section

IPC.
IPC ges
A:-Section 96
emuaum 96
B:-Section 99
emueum 99
C:-Section 98
emuaum 98
D:-Section 100
emusam 100
Correct Answer:- Option-B
Question3:-Which of the following is the main essential of criminal conspiracy?
@969 alOQMAUDIB oG @IZME BUIELDAIMYSS (JWIM @RMIEYD®?

A:-There should be two or more conspirators
@EENZ0 @RDIRIWIGHED0 BUVELIAMEHIB D6MRoIElEnsmo
B:-There should be an agreement to do an illegal act
mle2alaruew 8@ YO B2 B IR OMRIVIElEnemoe
C:-There should be an agreement to do a legal act by illegal means
dloaalsrpaow 093nEBERes 8@ THRAIERIY JQYODI £.21QIM BB GEIB DERIVIElEnem.
D:-All the above
P (RN TTON =T
Correct Answer:- Option-D
Question4:-The section which gives adequate protection or exception to medical professionals under the IPC :
IPC (@000 60l@d@ ©(ejonnaUemaje:udes adi@o® MIsEHHEMER0 BFINIENERID M@BEM Q] :
A:-Section 88
eauesd 88
B:-Section 92
emuaum 92
C:-Section 93
eauesmd 93
D:-All the above
ABHEI AlOFDAUOWEIIo
Correct Answer:- Option-D
Question5:-Which section of the Indian Penal Code provides for legal insanity?
o Weso Mloaooleal ago Adajosm rloa G0 m@e:na?
A:-Section 81
emueum 81
B:-Section 84
emuaum 84
C:-Section 85
emueum 85
D:-Section 83
emuaum 83
Correct Answer:- Option-B
Question6:-The maxim de minimus non-curat lex is incorporated in section
20gglo il alrlamy’ emosmd-@xeog” ey IPC qyes aleonami® pudeqjgoniwigens.
A:-Section 91
emusum 91
B:-Section 95
emuaum 95
C:-Section 93
emusum 93
D:-Section 96
emuaum 96
Correct Answer:- Option-B
Question7:-Abetment of suicide is punishable under
@RYORO®L BJEEMY (@B000 WleH e1ElEso
A:-Section 305
emusaum 305
B:-Section 306
eaussad 306
C:-Both (1) and (2)
(1) 20 (2) oo
D:-None of the above
HE@D Al0OMOWITR. @BLY
Correct Answer:- Option-C
Question8:-Sexual intercourse by husband upon his wife during separation is punishable under
cadalldoad rua@on @3EmIA @EKYNIW HeRIUIE: MWD ogdensma IPC ges (@J&000 UBlEUIBaOM0ETY.
A:-Section 376-A
emusum 376-A

of IPC.
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B:-Section 376-B
emueum 376-B
C:-Section 376-C
emuaum 376-C
D:-Section 376-D
emueumd 376-D
Correct Answer:- Option-B
Question9:-The chapter of the Indian Penal Code which contains highest number of sections is
ABQQYo LSO o.lcﬂ:qd@zm 2UBEEISHM DaKB Uelemo MlaoTiea GPWPW.
A:-Chapter XVI
@pwp@o XVI
B:-Chapter XVII
a@pwp@o XVII
C:-Chapter XVIII
@pwp@o XVIII
D:-Chapter XI
@pwp@o Xl
Correct Answer:- Option-B
Question10:-Section of IPC prescribes punishment for malignant acts likely to spread infection of disease dangerous to life
IPC ges Qidra] H ERAIBHSHERIQ GEINNIDW AlSBEMIMB MLILIORESS PIEHAIW (JAUBCTBWBLS ey Mldegudlesme.
A:-Section 260
eaussad 260
B:-Section 250
emuaum 250
C:-Section 240
eaussad 240
D:-Section 270
emuaum 270
Correct Answer:- Option-D
Question11:-Section 82 of the Indian Penal Code is an example of
b wles dloacoileal eTuesm 82 am 9EoanEeMRET
A:-A presumption of fact
O.I(TS(U)QG)S 63@3 @OMAIMo
B:-A rebuttable presumption of law
N2EIBO0 MleaHwlenoqom @rmaIMe
C:-An irrebuttable presumption of law
M2aowIBe0 @RMIEHWRIW @BIAIM.
D:-Mixed presumption of fact and law
alaowlden QATROQES dlgow’ @oeaame
Correct Answer:- Option-C
Question12:-The minimum number of persons require to constitute the offence of 'affray' is
'QIPEs A BB MNJlEBMGIM ERAIBPID aBGQYe E:06D QUSOBSOS af)s[Ro DO
A:-Two
©6ng
B:-Three
Qo'
C:-Four
moel
D:-Five
@6l
Correct Answer:- Option-A
Question13:-An executioner who hangs a convict in pursuance of an order of the court of justice, is exempted from criminal liability by virtue of
AP ELSTQOS QOMEAIMIVE! ] 8T E:gaglow g:ﬁsﬂo@o%«n @R©0.408, @000 @IBn@ oW mloy aglaneeagamo
A:-Section 78
emusum 78
B:-Section 76
emuaum 76
C:-Section 77
emosum 77
D:-Section 80
emuaumd 80
Correct Answer:- Option-A
Question14:-In which of the following cases, Section 303 IPC was declared as unconstitutional by the Supreme Court of India?
©@069aJ0QD og@ eaaydelensm, IPC 303 ata] sy myeflo ed0si @osmaaismo allmrvace] @leuydalgio?
A:-Bachan Singh v. State of Punjab
6n1gim mloty V. 6IYQ G9ad’ alerauosny
B:-Mithu v. State of Punjab
alg V. eqRg 69a0 alemioent
C:-Sunil Bhatra v Delhi Administration
M@ 6@ V. (Ww@dad] @royflmlemyauad
D:-Machi Singh v. State of Punjab
204fl Ilo0Y V. 6qRG 83000 alemioent
Correct Answer:- Option-B
Question15:-Any man who follows a woman and contacts such woman to foster personal interaction repeatedly, commits the offence of
aBEOBIEe ojGaHUd BB MlEW allgsEBHQ EROmE. TYBERW] MIMWEFHQ ERABOTIA AUBGOINIERIW DSEAIST AUSBOTIEWFERBWYo .aIQTo.
A:-Use of force on women with intent to disrobe
QYo @RS af)(M LEGUETIOS crgla,gs)s COM NILlJEVIUo
B:-Stalking
aflawsecd
C:-Assault on women with intent to disrobe
QRo WEIERD aflM DEGUREOMIOS MYIBUIE EMEOEWSS GR@A6Mo
D:-Voyeurism
caroQdlme
Correct Answer:- Option-B
Question16:-If the Court has the power to sentence a convict to rigorous imprisonment exceeding one year, the solitary confinement :
8@ &GOV 8@ AUBUOTIT &FO® &AM @salldy Wleleromd eaosoiles EPWBegeMEIT, ageommsal:
A:-Shall not exceed three months
QT BOMLOTI@ B:STR
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B:-Shall not exceed one month
6@ DITVOTITD SBSTOY
C:-Shall not exceed two months
6N BOMVOBITS &STO
D:-Shall not exceed forty-five days
MI@Bojorileeal damomlad sy
Correct Answer:- Option-A
Question17:-For the offence of "kidnapping from lawful guardianship", the minor should be under
years of age, if a female
" H@2ae20@ EOUIBA lcd oy @Fle@06NEealdd@" agam SO, @OaJBODIIB:ICMWIUBES jtBaUMOSEMEsEd
QMM @69ewI @RWIEEEM..
A:-15 years, 17 years
15 aidao, 17 qi@asio
B:-16 years, 18 years
16 adato, 18 idato
C:-14 years, 16 years
14 aidao, 16 uBasio
D:-12 years, 15 years
12 adato, 15 idato
Correct Answer:- Option-B
Question18:-The Indian Penal Code was passed in to law in and came in to operation in
DM UBleHIMIne -3 alomyoss @3 UBODMR0R6EL .
A:-In 1860, in 1862
1860-w3, 1862-ad
B:-In 1861, in 1861
1861-w3, 1861-®d
C:-In 1961, in 1961
1961-e3, 1961-ad
D:-In 1960, in 1962
1960-@3, 1962-®
Correct Answer:- Option-A
Question19:-The lowest term of imprisonment prescribed for an offence under the Indian Penal Code
D Wlemmloaooin SFaes a8 &QROODIM MIBERUTlEeSISBS aBQQYe 06D @SAT @MU
A:-Simple imprisonment which may extend to twelve hours
al@E 26miged aee digm aigloacw @sal
B:-Simple imprisonment which may extend to twenty-four hours
o@alomImoel aemlesd e m'lgcm eiglonow msal
C:-Simple imprisonment which may extend to ten days
algo dlaime aee digm aigloacw @sal
D:-Simple imprisonment which may extend to one-month
8O 2ITVEOE (IleaeIam aiglmacw msal
Correct Answer:- Option-B
Question20:-Which is the alternative term used in IPC for the word 'mens rea'?
'0ammy dl@' agan ARG eagalmied Dale@IUTlERM HO®® alBo aR@IEM?
A:-Intentionally
OM:adBYo
B:-Knowingly
@RGIEOREB06NE
C:-Malignantly
20RBAIQ
D:-All the above
HE@D A0SV
Correct Answer:- Option-D
Question21:-Which one of the following sections is not related to attempt to commit an offence?
Q0 ©.21QOVSS WAYROW] MOOSJOQID allROVEEBEITE a@@oeT sITWAlgOm@?
A:-Section 307
emuaum 307
B:-Section 308
emueum 308
C:-Section 510
emuaum 510
D:-Section 309
emueum 309
Correct Answer:- Option-C
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years of age if a male, or under

Q@M @evewd myleoesmesslcd

Question22:-As per the chapter dealing with general explanations, the definition of the term 'Harbour' excludes the application of the following

section if IPC.

601020 QllLeElB:EEMEEBUS HOGEILH ©.2IQYM GPWPWo @RTVELa], 'a00@6nId" ag)M alBElBe0 mldaiaime IPC @resmelad @oeeajoga alonamliBen ewoneom alanesm.

A:-Section 157
emuaum 157
B:-Section 130
emusum 130
C:-Both (1) and (2)
(1) 20 (2) o
D:-None of the above
ABHEIW AOFTDAIOWIMR. @8]
Correct Answer:- Option-C

Question23:-Which one of the following sections is related to an offence against a child under the age of twelve years?

AT UMM @IOPQES HFOBDTIEIW HQBOYRIVS IMWeS ma;g.‘lce,ua ag@oem?
A:-Section 317
eauesmd 317
B:-Section 83
eauaxm 83
C:-Section 89
equaum 89
D:-All the above
ABHEI AlOFDAUOWEII0
Correct Answer:- Option-A
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Question24:-Thinking 'X' is still alive and sleeping on the bed, 'Y' fires at the dead body of 'X' through the window. 'Y" is guilty of
X' @eajoge elallsldlenmesran e.mol egelcd elsmosgemion 'Y mmoaiiges X'-mdeo gomesanompin emee saslgoldesme. Y SQEORMIEN
A:-Murder
BHILIIIDdho
B:-Attempt to commit murder
6)HIRIIDD B UDDo
C:-Causing grievous hurt by dangerous weapon
@RAIBSHERIV ERHRQRWANITCE PBOERIW al@leEH@Ba]lEns
D:-No offence
&qalley
Correct Answer:- Option-B
Question25:-'An act itself doesn't constitute a crime unless done with a guilty mind' is explained in the legal maxim
| $:066NI0WEOMI6S £2QTIOYEBITE GG YO @O GG GO BEMEEslg) ag)M laaieacw nogldlcd allvededlesae.
A:-Actori incumbit onus proba
606001 @HMIG BMAY ejosnio
B:-Volunti non fit injuria
6aog6nEl 6maem adlg eomdgadlo
C:-Actus non facit reum nisi mens sit rea
8 emaem andmilg’ dlwe mlmil eammy’ milg’ dlo
D:-Actio personalis moritur cum persona
BOIEWI HaIELIMIRMY 620EISA dho HaIELIMO
Correct Answer:- Option-C
Question26:-The term "innuendo" is connected with the offence of
"o mMeeO@aTEwo" g alBe EQRHIYRIW ENIMWE SIElesmo
A:-Intimidation
Aterloalgom@d
B:-Defamation
@RaIBIBET O gOmE
C:-Forgery
QILORo
D:-Affray
@Peay
Correct Answer:- Option-B
Question27:-X, with an intention to cause injury, incites a dog to spring upon Y, without his consent. Here
AlElES DERIERE o) OEFUEOMIOS X, @OAUMEHO (Ui OhITREION Y @es ca® GOl 8@ MIVO® ca@loflesane. eales
A:-X has used criminal force
X @dn@d enelia)come ch@ou’ﬂ%
B:-X has committed an assault
X 6@ @o@aeme Mmsool
C:-X has intimidated Y
X Yo cweaqgomni
D:-X has committed no offence
X 8@ &gql ea1gigle)
Correct Answer:- Option-A
Question28:-Z, with the intention of causing the death of a child of tender years, exposes it in a desert place. Z has committed the offence of
, though the death of the child does not ensure.
Z, @0@oBonii® 8 $3Qes aeeMOEmIM $:006MadsE:d ol DEGUEOMIOS, @R 6@ AGBEAQITE @O DOMoBOgMo. &SQeS BEsMo Qorlldm@@z(f\'ﬂﬁ)%dﬁﬂq.]o ag)om
@Q006m Z 6.a1Q0.
A:-Attempt to murder
B)HIRIIID B UDDo
B:-Abetment of suicide of a child
BB HIYWES @OVNM a6
C:-Causing death by negligence
@RUDRELYPLIPSS AE6Mo
D:-Infanticide
WOy
Correct Answer:- Option-A
Question29:-Z takes a gold chain belonging to W out of W's possession without W's consent, with the intention of keeping it until he obtains money
from W as a reward for its restoration. Z has committed
W @es psamnoeiess e muidep woaal W es mumodgpeo Z aggasm, @o@ ajm:amundalesmaings @olaemo] W-@d aloy’ aleme. aidesm@aiee myesiess agan
DERUYEOMIOS. Z (JOIL6mOETIRLRIET
A:-Criminal misappropriation
@@ FBaIEINe
B:-Breach of trust
allueday loagime
C:-Theft
GAIaH6Mo
D:-Mischief
allg ol
Correct Answer:- Option-C
Question30:-'A' threatens 'B' that he will keep B's child in wrongful confinement unless 'B' will sign and deliver to 'A’, a promissory note binding 'B' to
pay certain monies to 'A'. 'B' signs and delivers the note. 'A' is liable for
'B' saflg@mo 'A' 6@ ag@daflenanp oaglogslad 'B' @es eglow emgow @salm andqjesenm 'B' ow dasmleqseman. 'A', @f Mlumio ame mgimailay 'B' e enicuwlaflesom
8@ eodliarud] emos. ‘A’ EIOWYTLOMOET
A:-Criminal misappropriation
Sln@ GBaleIn.
B:-Intimidation
Alasomloagomad
C:-Extortion
oglowgendd
D:-Robbery
SR
Correct Answer:- Option-C
Question31:-Which of the following is an example of an inchoate offence?
@69 OQRMAIRIB oF@EM MBEBIVIG B:QH@IOBINY ©BEINEEM.
A:-Attempt to commit offence
Qo 6)2IQIMOSS R0
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B:-Conspiracy to commit offence
Qo 6)2IQPIMOSS BUIOELI).aIM
C:-Abetment to commit offence
BQo HaIQOMOSS ClaJO6M
D:-All the above
QHEI®W A0SV
Correct Answer:- Option-D
Question32:-Against which description of the following offence, does the right to private defence of property extend to causing death?
@OOPJOQID @QROEBIBOO0 og®y alaiEEMEBIM ag@ileeny, MUIEHIBEO VIGO0 MVEEXUMOTIVSES BRAIB:IUB. AEEMOTIERIE MWlEBima?
A:-Robbery
SR
B:-House breaking by night
Q@B alls OBALED
C:-Mischief by fire committed on any building, tent or vessel used as a human dwelling
QMY QDIVIVOLINIY] DalE@IUTIERIN ABOMEIR) HBSISOTIEMI HSOEMTIEMO A@OIEMO Glalgamay
D:-All the above
ABHEI®W A0SV
Correct Answer:- Option-D
Question33:-Which one of the following types of intercourse does not come under the offence of 'intercourse by a person in authority'?
®269aJ0QIMAIRIEE ag®oeN ' @RUWlE:0o0ISs QEMIQES EERIUIBENITW.' af)M GEQOIM GIFwd QIoEm®?
A:-Sexual intercourse by a man with his own wife, the wife being under fifteen years of age
BB oBaUD MIo RIEYRYEIW] HORIUIE ITWOTIR FBOaIgMD, EIEKE aTlmem! QMM ®oeP@ET
B:-Sexual intercourse by a person in a fiduciary relationship
QllweIMAIEAIW MINMLETIYSS BT AUBTIQES OOLIUIG: Mo
C:-Sexual intercourse by a person on the management of a hospital
8 ERRAOIYSS 2ICMEEAM® 8IS MSTBLAN HOLIUIBENIM.
D:-Sexual intercourse by a public servant
B0 6alDJAUBCMB:M MSTDMN OORIUTE:ENIMbe
Correct Answer:- Option-A
Question34:-Which of the following statement is correct with respect to the offence of "waging war against the Government of India"?
"0y VAEIBOMTIOE QLo HalYD:" AN GRS NIMWOIS BIOLOQMM TYIAUNBET aB@osy vodl?
A:-Waging war against the Government of India is punishable with death and fine
DAY TAEHIBOMTOE QYELo H.2IYMEY BEEMOYo allo®e WBlBHOBaOBOET
B:-Attempting to wage war against the Government of India is punishable with imprisonment for life and fine
DI}, MVREITIOMDTIOD QYERLo B.2IQPIM EBAEBM® HlAlalEKDo SO alleQle UBlEHIBaORIETY
C:-Abetting wage war against the Government of India is punishable with death and fine
) MAEIBlOMTIOe QELOTIN Cadlnflesmay 2N alleqe Blerodanaosm’
D:-All the above
ABHEI alOFDAUOWEII0
Correct Answer:- Option-D
Question35:-The case 'Joseph Shine v Union of India' is related to which of the following offence?
' 6280(MVal ©60HM V QI 60ad EDAmY ag)aD e @IOLAOQYM aB® HQHOIY20W] mrrws)«klgmosrn‘?
A:-Adultery
QElaloee
B:-Dowry death
Mlwm aeeme
C:-Custodial rape
SR ENIRIOOIVWo
D:-Unnatural offence
@oolal@man &go
Correct Answer:- Option-A
Question36:-When a person absconds in order to avoid service of summons from any public servant, it is
233 J1ejo ©al0D(JId: @3 dloegs muamay’ a¢laeEsmM@Imoel 6803 BElaled calos:emidu, @om
A:-Contempt of the lawful authority of public servant
Hald®ETVABMHO MQAIRRIY GRWIHIRHDD GRAICAOS|ERS:
B:-Punishable with simple imprisonment which may extend to one month
8T DM AIBE WISl @M aiglmaow ®sal wWlew aiElase
C:-Non-cognizable and non-compoundable offence
@@l aiTl@IMIBITODo ELIOMUDENEENIWS @RLPOTHDAID B:Qo
D:-All the above
B AlOOMAIOWEIe
Correct Answer:- Option-D
Question37:-The word "electronic record" used in the Indian Penal Code shall have the meaning assigned to it in clause (t) of subsection (1) of
section 2 of Act.
DB aln@d csowlod Dale@oui]siidlesan " meiegoemls; 0" agam @M @RRFBEO TVEHM 2-681 Palalleons (1) m@eo egomy (t)-od madelwldlasmm
@PA®Ne OENRIVSEIERo.
A:-The General Clauses Act
LMOM CHITY @O
B:-The Copy Right Act
6B9a] ©60¢ @R’
C:-The Right to Information Act
6607 § EDMBa0BCRHUM GO’
D:-The Information Technology Act
0BanBeaaum esegoss Coe
Correct Answer:- Option-D
Question38:-Which among the following statement is not true?
@OOPJOQID JTYOUNBEDD ogmosn wdlwe?
A:-In all robbery there is either theft or extortion
)80 SIB/Qlaj BMGITE EREMER0 @oeeEsTd rxﬂ§sdd010@0 o6
B:-A person can be convicted both for extortion and robbery
aflslgjaidlese B 6@ Qetlow wWlesleonmmoeny
C:-The offence of robbery is defined in Section 390 IPC
@B o)™ &Qo IPC 390 0@ @000 (dlemodanaosmy
D:-The offence of robbery is punishable under Section 392 IPC
&0IB3) o)™ @go IPC 392 00 (Jr000 Wlemodanaosmy
Correct Answer:- Option-B
Question39:-X, believing a laptop belonging to Z to be X's own laptop, takes that laptop out of Z's possession. Here:
Z-1860 a196ajoa] X-MB6O TUIMm. 2196na] @ReemY allveimils) X, Z-860 6e@:aiwe aflaTy @R 210Goa] afgenme. eales
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A:-X commits theft
X e@0a¢6me MSEDMO
B:-X does not commit theft
X 6a0ausme Msgmmiley
C:-X commits cheating
X @gla] msgman’
D:-X commits mischief
X allg@leud oagmo
Correct Answer:- Option-B
Question40:-Against which of the following descriptions of offence, the right to private defence of body does not extend to the causing of death to
the assailant?
@I6PaORQM af® &QH@OBIMBO0 alaesmaBim af@leow, tdleaBldac M) TEEIWETIMEE ERAIBIW. ERGAIWOS BEEME:ICIMOTIERIE A leRaTls).
A:-An assault with the intention of committing rape
SNIRIDOTVWo 6)21Q)d: af)(M DERUEOMINSQYSS @RGAEMo
B:-An assault with the intention of gratifying unnatural lust
@STNIGBALAIY HIVOTD QoflPaFEDE: 0N LEFUVETMIOSQYESS EYGB6Mo
C:-An assault with the intention of wrongfully restraining a person under the circumstances which may prevent him from proceeding in any
direction
8@ QUBTIOW apemeslal dluodieales mlmzamaiad alar’ 20YaM VIO, 1@ 6OQIV MSQS afIN QEFULEOIOSWQSS @RYE@RD6Mo
D:-An act throwing acid which may reasonably cause the apprehension that grievous hurt will otherwise be the consequence of such an act.
@RIl ag)FlQYM B (YO, ERM VBMEDIW EEIODTIM B:0EMAICWEHIYM BT (JQYTTQYSS @OMMEANLIAIQIDER0.
Correct Answer:- Option-C
Question41:-How many sections does Chapter-XXIll of the Indian Penal Code consist of?
@@ allm@d esosldeo XX @ewpwe a@ QB Qoﬁ@mo@gmﬁ?
A:-Eleven
aloleomoa’
B:-Only one
S0 20O@o
C:-Seven
Ry
D:-Five
@6l
Correct Answer:- Option-B
Question42:-Section 326-A has been inserted by Criminal Law (Amendment) Act :
@nd cen (6eE1OT) @R (@0 OTVEeHM 326-A eadom:
A:-2009
2009
B:-2003
2003
C:-2013
2013
D:-2005
2005
Correct Answer:- Option-C
Question43:-In executing a sentence of Solitary confinement, such confinement shall not exceed days at a time.
B sl Wley Msaflenesemiou, @rOmE. @sal B Ma. Almool@d @sa;o.
A:-14 days
14 damoe
B:-30 days
30 dlarve
C:-15 days
15 dlame
D:-20 days
20 dlarve
Correct Answer:- Option-A
Question44:-'Z' dies in possession of a gold chain in his body. His servant 'W' removes the gold chain from the body of his master just after his
death. 'W' has committed
wdlecnipal 8 MIATR HaRlB OOBI. OAlye®INE 'Z' adlesmm. @pamen carvm W' @pamBeo arsmewa. @=aM®@e0 tdleomia mlamn’ muidsy eawld M. agae. W'
(QOLEOENIMLAET
A:-Cheating
QuerIm
B:-Mischief
‘939(\".!0
C:-Criminal misappropriation
@AM FBalEON
D:-Theft
GAIaH6Mo
Correct Answer:- Option-C
Question45:-'S', a swimmer, watches 'C', a child, drowning in a pool of water. But, 'S' does not save the life of the child 'C' as a consequence of
which the child was drowned. Here 'S' has committed
dlv@smoemom 'S, 'C' agm &3 am eaiss. flod geadladlencmay aldeslesae. aeoy, 'S', 'C' @os el esglesmy). malles 'S' @alg eag
A:-No offence
&qalley
B:-Murder
6)HILIIIDdo
C:-Abetment of suicide
@ROBAODM BlaJOEM
D:-Culpable homicide not amounting to murder
2AM:aJBAIRD MDD OBILIIDEOTIM Delas].
Correct Answer:- Option-A
Question46:-The punishment prescribed for the offence of Misconduct by a drunken person in any public place is
ABOOBIR) HalOD@MVNLIoD BBalls] 80013 20WRIW HalmaClGIM mldegudlesm udles.
A:-Imprisonment up to one month and a fine up to Rs. 1,000
8@ 20me AeE ®@sq 1,000 @a aee alleq caidony
B:-Imprisonment up to one month or fine up to Rs. 1,000
@ 20mVe Aee sl @regEled 1,000 @al aee ofle
C:-Either (1) or (2)
(1) coog@la (2)
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D:-Neither (1) nor (2)

(1) @ngy (2) @ogy
Correct Answer:- Option-D
Question47:-An assembly of persons is designated an "unlawful assembly".

QEOleges 8m @eM.Rlew "rlwaclmeracw ruemgm.” agan alglesm.
A:-Five or more persons
@OEOID @RTIRIWIEER0 @T@%@:UE
B:-Two or more persons
©E6MTE0 @R@IRIWE:E00 @RSH:UB
C:-Four or more persons
MIeRID @RMIRIWG:ea0 @@g&u&
D:-Three or more persons
gemMo EPOIRIWl®End EOEHUE
Correct Answer:- Option-A
Question48:-Thug is a person who has been habitually associated with any other or others for the purpose of
26QeME18J6a0, 2QSBIBACWO mudleacdl mimveqslelesmm e aysmoilosm @uy
A:-Committing robbery by means of or accompanied with murder
OB Eo AUFIE GBREMINSIajo GAIAHUEMo MSTDHEWI 613]&%!6:
B:-Committing child-stealing by means of or accompanied with murder
60LIn 0D Ee AUSIEWO @REBIOSIafo BSIBHOS ERIYBHEWD HaIQd
C:-Either (1) or (2)
amalod (1) eoeglcd (2)
D:-Neither (1) nor (2)
(1) @ogy (2) @ogy
Correct Answer:- Option-C
Question49:-The Chapter of the Indian Penal Code, consists of only one section
O™ UBleHIMIRDOIMBOO @RWPW., B@3 QI BI@o 2UBEMOSBMO
A:-Chapter-VIII
@pwpwoe-VIII
B:-Chapter-XIll
@pwp@o-XII1
C:-Chapter-XX-A
@RWHPWo-XX-A
D:-Chapter-XX
@RWHPo-XX
Correct Answer:- Option-C
Question50:-Which of the following statement is correct in relation to "mock marriage"?
" 62065 allanan" QI2o®ll cNIMWEeR]S @IOPaIOQID JIYIAMBET og@osT vodl?
A:-A person who fraudulently goes through a marriage ceremony, knowing that he is not thereby lawfully married, is punishable
Tlaaieacd alanadlomegan @rAlEIMe 6T 6@ allaad lSEREIRES AIMIMIAIEEIR AGIVIM BSMEEAIIE:M BEIUS UBleaoBanaoem
B:-A person who with dishonest intention of knowing the nature of the marriage ceremony as invalid goes through such a ceremony, is liable to
be convicted under IPC
allaioad asE@EIBO0 IR @RMIOWYNAEEMM ERGIWIMSE TLMNVMLASOA DERULIEBTINS BROMOESNIT LISEBREIAYOS BSMPEAIG:M 800u3 IPC (@J@:0e. BellEnenlsond
ENIOWIMLAMIEIT.
C:-The punishment prescribed for mock marriage is imprisonment of either description for term which may extend to seven years and fine
606 allaaoomsilay’ mldegudl sicdlesam wWlew a@e aidate eE Tilegmimdesmm amdem a8 alaremaBBen Mmsqe alewmosy
D:-All the above
HE@D AlOOMAIOWEIe
Correct Answer:- Option-D
Question51:-Which one of the following does fall within the definition of the word "public servant" as explained in IPC?
©069aJ0QmMARIEB ag@moem IPC-0iad alwdle:dsldesmoentsa " oalo@erasm” agm aoesldeo mldaamomilod ouwengmo?
A:-A person who is in the service or pay of a Government company as defined in section 617 of the Companies Act, 1956
1956-621 &numny @&l 617 @re Ao Mldaalaldlesim @i 8m MBEIB HMITIQeS CILAIMOTIER RMISOTIERN B8 B3 QBDI
B:-Every person who holds any office by virtue of which he is empowered to keep or place any person in confinement
aBeOEIj AETIE® ®sallaenoemo @salled aldallenoemo ERWIBIERSE FE®IT BoadlMye QlaGlERIM 606D QBT
C:-Every person who is empowered to prepare, publish, maintain or revise an electoral roll
8@ 6ISA algle ©QPI0I®IEMI MIlRUIBEIEIEMI al@laloaleremd al@lg@leaem @RWIE:0ERsS 696 QBT
D:-All the above
QBHE@W AlOODAUOWEIe
Correct Answer:- Option-D
Question52:-Which one of the following combinations is not correctly matched?
(a) Stolen property - Section 425

(b) Mischief - Section 463
(c) Cheating - Section 415
(d) Forgery - Section 410

Choose the correct answer using the following code.
@I6PIOQID EHIMNIEMHURBSID G@6T LEITS HaNBODOSITDE?
(a) eaoaifly) TuiOD - OTVBHD 425

(b) @%aj - equesm 463
(€) aermum - equesad 415
(d) aosmeosy - equeum 410

@IOPAORQA EHHIU ©ale@IUla] REIWIV TP TEEETNG LD
A:-(a), (b) and (d)

(a), (b), (d)
B:-(b), (c) and (d)
(b), (c), (d)

C:-(a), (c) and (d)
(a), (c), (d)
D:-(a), (b) and (c)
(@), (b), (c)
Correct Answer:- Option-A
Question53:-Which one of the following cases is related to the maxim "Ignorantia juris non excusat Ignorantia Facti excusat"?
"Ignorantia juris non excusat Ignorantia Facti excusat" agom aoglaace ciIrwenisoY ag®Y emmuosm?
A:-Raj Singh v. State of Haryana
©0gd MUloY V. eqRg’ 69ad’ an@l@osm
B:-State of Maharashtra v. M.H. George
6qRG 89al @n00oaY V. M.H. emodmed’
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C:-Ram Rattan v. State of Uttar Pradesh
©2 EOMM V. 61Rg 690l QOOAJEEUS

D:-Amar Singh v. State of Punjab
@prad milouy V. 6ayg 63000 alemioeny

Correct Answer:- Option-B

Question54:-There are exceptions, provided as defences to the offence of defamation under the Indian Penal Code.
DD WWleHmlaoDin SFass @Ralsldnnlen3Om®E EEDIM @Joleoownrd] mmsluigss 861010698) 03 O6E.
A:-8
8
B:-9
9
C:-7
7
D:-10
10

Correct Answer:- Option-D
Question55:-A person who gives assistance or aid to the perpetrator of a crime is
BB SRV OGN QUSTIES TVADIWoe MASM BT AUYBO
A:-Principal
@Jadriloj@d
B:-Depredator
Awlejeawgd
C:-Accessory
@Ryl
D:-All the above
HE@D AlOOMAIOWEIe
Correct Answer:- Option-C
Question56:-In which case, the Supreme Court has issued guidelines to prevent sexual harassment in workplaces?
0@¥lmd MuneIEEElRl ©6RIUIBITIGa. MSWIM Malle eH0S 20BNMIBERWEEBEUB aj06a]FAllIDY o@D MO0 alEKOTRIEM?
A:-V. Revathy v. Union of India
V. epaioll V. @emlom 6oad eoaoy
B:-Vishaka and Ors v. State of Rajasthan
allkwosy @R BoBMY V. eqRG Boad @IWMNIM
C:-B.S. Joshi v. State of Haryana
B.S. emoadll V. equg’ 80ad andlom
D:-D.K. Basu v. State of West Bengal
D.K.eniomy V. equg’ 60ad eQiqy enienoud
Correct Answer:- Option-B
Question57:-The punishment for the offence of "intentional insult or interruption to public servant sitting in a judicial proceeding" is :
"8® BWlaU® QIKQI0IEOTIM DEIERM HaNDEIABOMGOM AM:ajdQle @RAIAINERG:EO OSIYOISADHEWI amugﬁ" Qg0 HQOTIRES BlHs @O
A:-Imprisonment upto six months and a fine up to Rs. 1,000
@O 20 e @sa 1,000 @a! aee allege
B:-Imprisonment up to one year or fine up to Rs. 1,000
8@ Qdato e ®se 6@ 1,000 @ e alvcwo
C:-Imprisonment up to one year or fine up to Rs. 2,000
6@ Qdato e ®sead 6@ 2,000 @al e allvcwo
D:-Imprisonment up to six months and a fine up to Rs. 2,000
@R 20 aee ®sqj 2,000 @a e alleqe
Correct Answer:- Option-A
Question58:-In which case passive euthanasia has been legalized in India by the Supreme Court?
@ eamilenem’ myafle ¢85 I Mlagflo swoaiwe deaclecwonossloo?
A:-Vishaka and Ors v. State of Rajasthan
allweosy @MW BoBMY V. 6y Bad @M
B:-Mukesh v. State (NCT of Delhi)
gedadt V. 6qug (NCT 80ad cw@dadl)
C:-Raj Singh v. State of Haryana
©ozd miloY V. 6aRg 6300l an@l@om
D:-Aruna Shanbaugh v. Union of India
@M oHOMBEENIUY V. el eoad goamy
Correct Answer:- Option-D
Question59:-P, cuts down a huge mango tree standing on Q's land with the intention of dishonestly taking the tree out of the possession of Q,
without Q's consent. What offence P has committed?
P Q-me0 @aloiad dladesm am @&gm moal, Q-@eo mummdgpe®, Q-1Be0 psamun@@l@d mlan cvmymawo gy 2@ af) ag)im DeaC omﬁmcgm. P agooy
©Q006M ©.21Qo?
A:-Theft, as soon as P has severed the tree from Q's ground
e@0au6mMo, Q'S eWeEIed @l P geseom emualy psm
B:-Criminal misappropriation of property
IO GlINE3 GERaIE@IN.
C:-Criminal breach of trust
@l allvoiomu ekeaimoe
D:-No offence
#qafley
Correct Answer:- Option-A
Question60:-If the offence is punishable with imprisonment and fine, the imprisonment for non-payment of fine shall not exceed :
Qo @S afleme WleUIBaOBOEMEBI@, alle GRSEMITDTIMREs ®sAl ®:allwom anslgy :
A:-One-fourth of the maximum term of imprisonment fixed for the offence
&Qowilay Mlunidilaflges aeaoaiw] @sal eoenawlges moeleaomy
B:-One-half of the maximum term of imprisonment fixed for the offence
Sgomlay m'lummflaj%gg lE2QIW] @SAl &0eNAWIQeS ald:®]
C:-One-third of the maximum term of imprisonment fixed for the offence
exgowilay’ mlinidlaflges aeaoaw] @salldeo gmleeaom
D:-The maximum term of imprisonment fixed for the offence
Sgomoilay aﬂummflajI%gg ale22QIuw] sl &oenaiuwl
Correct Answer:- Option-A
Question61:-Z gave poisoned cake to W with an intention to kill him. W ate a small piece and kept the remaining piece on the side Y who was sitting
there, picked it up and ate it. Y died. Here Z is guilty of
Z, W-a allatto 5213001©@ edds) 03050 6E08i@ o) DEFUETTIS W 6@ 0a0l® @atemo &:¢laf nosslQes dasme coalles o@m Y @s o ealy). @oo Y aggon @éla). Y
2@y} alles VA BQENOEMEITY
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A:-Z is guilty of abetment of murder of Y
Y 0@ 66:0210a]30m00 GaJ@laflal@ln’ Z @genoemosm’
B:-Z is guilty of murder of Y
Y @S 68021000003 Z @:Qanoemoeny
C:-Z is guilty only of culpable homicide not amounting to murder
80210 0EOTIN DENAGIOTD AMEnEAIAW MEAOMWIM ao@ade Z @&gaig
D:-Z is not guilty of murder as he never intended to kill Y
Y 0@ 089800 a@lena) £e3udlal5laEm@IMI® Z 6898 0m@:OTIT @:QEneMmay
Correct Answer:- Option-B
Question62:-Which section of IPC explains the term "sedition"?
" ©02yEBIn06" ol alBo Allkedle@leamay IPC-qes ago) alleonaem?
A:-Section 121-A
emusum 121-A
B:-Section 126-A
emuaum 126-A
C:-Section 124-A
emuaum 124-A
D:-Section 120-A
emuaum 120-A
Correct Answer:- Option-C

http://192.168.1.6/dept/modules/marklist/answe...

Question63:-Z, being executor to the will of a deceased person, dishonestly disobeys the law which directs him to divide the effects according to the

will, and appropriates them to his own use. Z is guilty of :

Z, 006Meq]s ASTIQES & ouesdiles aldaa0MEIEMIRGIMITE, 20 4J0USTEdMIE]a] DaDGHUd allesdlenond mldegualenam Mlaecm MU@ITLMLORILPE® BRMMVEIEIOD

@A MM PalconEBim aldlecworilesme. Z BQEHOOMETT.
A:-Criminal misappropriation of property
IO Gl GERalEIN.
B:-Criminal breach of trust
@@ allvelomu ekeaimoe
C:-Theft
GAIaH6Mo
D:-Cheating
QuerIm
Correct Answer:- Option-B

Question64:-A property is designated as stolen property, if its possession has been transferred by

[31] mngn.ﬂ(raao ©SAMNIUSIUBe HOG:AIQo am@mcﬂgﬂgam&)ﬂm, 6200lg) mngo.lom)’l aleouilEnanigm

A:-Theft
GAIaHEMo

B:-Robbery
IR

C:-Extortion
[OE{PISEF=Y

D:-All the above
ABHEI®W A0SV

Correct Answer:- Option-D
Question65:-The right of private defence of the body continues
WPAEEOTIMBOHO TVIBIOY (JTIEEIWOTIMPSS @I DSEMO

A:-As soon as reasonable apprehension of danger to the body arises

RAROTM @OABHSOTMERG].4] MPWRIW EWo PSHRISOMOT OSM

B:-As long as reasonable apprehension of danger to the body continues

B

Sy @ ﬁ’ligg MPWRIW BEWo ®STISEOMOBo
C:-Till the offender is arrested
HQUOglO® @ROMY £21QMDAIOO
D:-Till the completion of the offence
BQo JBOTRIBMDUOE
Correct Answer:- Option-B

Question66:-X, intending himself to be likely permanently to disfigures Y's face, gives Y a blow which does not permanently disfigure Y's face, but

which cause Y to suffer severe bodily pain for the space of twenty days. X has

X, woweioa0w] Y @es gel allg@aoenomd mowim@es:ar &aadl, Y Qs gaiecm 0dwi@add allg@aignoom 6 @@ M@B&Mp, afami@ oo Y @f ex@aioy dlaimisomdes’

SN0 1IAIEIS: CAUBM @RMEAIEHIM HoEeMEEM. X @6,
A:-Voluntarily caused grievous hurt
LICAWO YR@ERIW FAIYEROES
B:-Assaulted Y
aR@aleeas Y
C:-Voluntarily caused hurt
auieao Qalajenzoses]
D:-Used criminal force
@2IN@3 s @mc@ouﬂ%
Correct Answer:- Option-A

Question67:-The Section 75 of Indian Penal Code consists in the chapter dealing with

vy wWeso Moaowioa HMBHM® 75 ©O@S:I0%0 §aQID ERWPODIC @SRl

A:-General exceptions
60D BFlAIER)E:UB
B:-General explanations
6al0@® allvedle:eemeasud
C:-Offences relating to public servants
60DAUBCT SR FNIMWO|S BQBDITRUD
D:-Punishments
WS
Correct Answer:- Option-D

Question68:-Which one of the following maxim does mean "let the punishment be proportioned to the crime"?
©@069aj0QID BOEIPHEI @O " @QEDINY @RMATB:A0W] UBles MEBEBERED ahaNoEN ERAMOR0EHMNE?

A:-Lex posterior derogat legi priori
601 can@IA@A awlenanrg eain jewad

B:-Culpa paena per esto
B@Bal Gl Bal@ af)Ty

C:-Ex nudo pacto non oritur actio
Ay EWI Galeyd MIM 60198 @REIeWd
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D:-Abrogatur legi cum prorsus tollitur
@REEINISA ORI dro Galodmum) esogllsd
Correct Answer:- Option-B
Question69:-Which one of the following group of sections of Indian Penal Code prescribed "Death" as one of the punishments?
B Wewu rloacpileal @oeeajoQm alleoy @ a@@osm’ (3l feanmowl "aeem." mldequdlaim?
A:-Sections - 121, 194, 302, 305, 376-B, 376-C, 396
equammeud - 121, 194, 302, 305, 376-B, 376-C, 396
B:-Sections - 121, 194, 302, 305, 376-B, 376, 396
emueumeud - 121, 194, 302, 305, 376-B, 376, 396
C:-Sections - 121, 194, 302, 305, 376-A, 376-E, 396
equesmeud - 121, 194, 302, 305, 376-A, 376-E, 396
D:-Sections - 121, 194, 302, 305, 376-C, 376-D,396
emueumeud - 121, 194, 302, 305, 376-C, 376-D,396
Correct Answer:- Option-C
Question70:-A woman who causes herself to miscarry, is an offence under section of IPC.
oo 1NARe @RI 8w qy, IPC-qes Qidha] @000 GQR0E.
A:-Section 317
eauesm 317
B:-Section 315
emuaum 315
C:-Section 312
eauesad 312
D:-Section 314
emvaum 314
Correct Answer:- Option-C
Question71:-Death caused by grave and sudden provocation is
DBBOORIVWDo HalOSMOBS (@JEHIaIMOYo PRIGENBIB:M AEMo
A:-Culpable homicide
.ﬁ;g&(amom) MDY
B:-Murder
HILIADMdho
C:-Culpable homicide amounting to murder
080210 0MSOTIM DENAID AMEJBARIW MDD
D:-Culpable homicide not amounting to murder
2M:ayBAIBID MEADD) OBILIOBOETINY Delas)
Correct Answer:- Option-D

Question72:-Sexual intercourse with a girl under years of age amounts to rape, even if it is done with her consent.
QAT ©oOPQSS 6O EalMBSIQROY] H6RIUIE FIMLOTIGE BB ERAISHS TVEAMETNINS EHEEMEIRj @O FIRIGBETVNETIM D06,
A:-21
21
B:-17
17
C:-18
18
D:-20
20

Correct Answer:- Option-C
Question73:-When does the offence of theft become roberry?
G2IAHEMo af)aM H:Qo HAIB LQIBINT n@@r}\lﬁ@ﬁﬁﬁ?
A:-When it is coupled with fear of instant death
©@HHEM m(osms)(mmﬂso’l_rg@g RWo @SleaiBmMOm®d
B:-When it is done by five or more persons
@PE0 @ROIRILS®:E0 @REHW OOV ©2IEMOLY
C:-When it is coupled with inducement to deliver property
6@onjdgl ewelaid 621QIMEs eeJEIMQAIS L Galdasemioud
D:-All the above
HE@D A0SV
Correct Answer:- Option-A
Question74:-A person is said to commit "house-breaking", if he commits house trespass and he effects his entrance in to the house in any of the
ways described.

8@ Qe allglod @ af ) allaidlsldlesmm ogomslaje aledaes alsleanss Jeainmoe MOWIEREQ a1, "alls’ M@&A®" MSDOHDM AIOWSIFM.
A:-5
5
B:-7
7
C:-6
6
D:-8
8

Correct Answer:- Option-C
Question75:-When 'A', a soldier fires on a mob by the order of his superior officer in conformity with the commands of the law, he has committed the
offence
'A’ agan ©EILMBHM GMBOO CRARJEBPNIVAMGEO DOMEAIMRIVElY] TRAGCHIMBEO E@BaMEBE @RMIY®RW] BMEBSOTIM cmeo HASIQGIBEREMIUD @PWIUD E:Qo £2IQ.
A:-Attempt to murder
DI UDDo
B:-Abetment of murder
OB SHODTIMY Glajo6m
C:-Criminal intimidation
@@ Eouerlonjgom@
D:-Committed no offence
SQOROMo 6.21Qlsley
Correct Answer:- Option-D
Question76:-Which section of the IPC deals with the different kinds of punishments to which the offenders are liable?
IPC @05 ag@) aidqoen @e:gangled siowimnesw alalw eeooiaes w@leusud 0000 ©algma?
A:-Section 53
eauesm 53
B:-Section 54
emuaum 54
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C:-Section 56
emueumd 56
D:-Section 55
emuaum 55
Correct Answer:- Option-A
Question77:-Which section of the IPC prescribes punishment for assault by means of criminal force on President of India or Governor of State
DB (JNIWMBASMEWO MM NIBEME0EW @ ldm@d sniaieieonadiges IPC s agoy aisalosm wdleu mldequdlesmo?
A:-Section 121
emueum 121
B:-Section 121-A
emuaum 121-A
C:-Section 124
emueum 124
D:-Section 124-A
emuaum 124-A
Correct Answer:- Option-C
Question78:-Which one of the following is not a general exception or defence under the Indian Penal Code?
©069aJ0QIMARIEB BT amymB WWleromlaEDlny GlFla/Es FaDAD® @RAINNEERD (JTIEEIWER) GREODD?
A:-Necessity
@RQUURYe
B:-Unsoundness of mind
amqladec @pauima
C:-Voluntary intoxication
LICAWDI LIaNE
D:-Acts done lawfully by accident or misfortune
@RGMB006@0 MIBEINILIERI MRERIY H.2IQM @JQOTIEUD
Correct Answer:- Option-C
Question79:-'L', a landowner, having the knowledge of the commission of a murder within his estate, willfully misinforms the Magistrate of the
district that the death has occurred in consequence of the bite of a snake. 'L' is liable for the offence of
@Be0 afeqRleegltd 8@ OB:IRIANME:. MSMmIV @RAWIQYM 8@ EAYSAI 'L', aomimeo @:slewgosm acsme Miealyeman am:ajda. elgp ademydlom emgow @rdlilesmo.
agm &gy L' snowymonmosy
A:-Causing disappearance of evidence
OO0 @REJOIBHUDIGMDIM HOBEMADIB:MD
B:-Fabricating false evidence
6©Q0® eEQeu3 mldelenmo
C:-Furnishing false information
6®Q0® flaIEaRUd M3
D:-Omission to assist public servant
@ AUBODBHOM M0 ERmM@Ies Bl @
Correct Answer:- Option-C
Question80:-'P', a police officer with an intention to cause injury institutes false charge against 'Z', knowing that there is no lawful ground for such
charge. Here 'P' is guilty of the offence under Section
'P', aidlewomalens agm 96RLEOIOS BM Galallny 9erHROMIN® 'Z' aan@lomdleon MW & 4ATBMD, GROME. EHQOTIM HWAIEAIW @:IREMeadMoaleg)M
@ndleoge6ne. males 'P' aiga] (@B0QB8 HQODINY &QEOEMIET
A:-Section 209
Q] 209
B:-Section 211
Qe 211
C:-Section 210
Q] 210
D:-Section 212
Qida] 212
Correct Answer:- Option-B
Question81:-Which one of the following combinations is correctly matched?

List-1 List-1l
1. Attempt to commit robbery A. Section - 395
2. Making preparation to commit dacoity B. Section - 392
3. Punishment for dacoity C. Section - 399
4. Punishment for robbery D. Section - 393

Choose the correct answer using the following code :
@0OPJOQID EBHIMIEMHURBEID oG0S LEIW aBOOSMDY?

ellqy - | eflqy - I
1. ®ady MSEITPES WoRo A. equeum - 395
2. ®gla] MSOmOMSE ®QIEOOFa] B. eavemm - 392
3. @glajmss wWeu C. equesm - 399
4. caoauemOTiees Udles D. equeuad - 393

@IHPJORQD EBHIW Dale@IUTla] LAWIW EOME. TIOEETOFERS:.
A:-1-B, 2-C, 3-D, 4-A
1-B, 2-C, 3-D, 4-A
B:-1-C, 2-D, 3-B, 4-A
1-C, 2-D, 3-B, 4-A
C:-1-D, 2-C, 3-A, 4-B
1-D, 2-C, 3-A, 4-B
D:-1-B, 2-C, 3-A, 4-D
1-B, 2-C, 3-A, 4-D
Correct Answer:- Option-C
Question82:-Whoever causes bodily pain, disease or infirmity to any person is said to
aRdem®Iaj 1IEIElE: CABMERD GEINERD MIRIACIMMERI PEMBIGRMP AT AlOWEFMD
A:-Cause hurt
caiamlaflese
B:-Commit an assault
B @YGHRD6Mo MSTDH>
C:-Use criminal force to that other
26QeIBE GlIM® ST PaIcWIERS
D:-Commit wrongful loss
HMQIW m(ﬂgo QUBTDO B
Correct Answer:- Option-A
Question83:-Section 106 of Indian Penal Code deals with
i oo Mloaosiear 106--:00 Qldq] OOE@000 ©.aIQMay
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A:-Attempt to commit offence
Qo ©2IQMSS WWAo
B:-Abetment of offence
BHOYOTIM Ea)eem
C:-Conspiracy to commit offence
Qo 6aIQIMOSS BUIOELI).aIM
D:-None of the above
AHEI aOFDAOWIMR. @oR)
Correct Answer:- Option-D
Question84:-'Z' is at work with a hatchet, the head flies off and kills a man who is standing by, though 'Z' has taken proper care on his part. Here Z's
act is
'Z' 8@ 00904lg 9216wl (JAIBEDIERME. @R aloM @RgED Mg 8EIES 6808/aM, oMVl 'Z' @paimBen conEpmImy IR WeL earjoviaige. oales Z-m@eo
(@QUIBTmMo
A:-Done by accident or misfortune
@REHMYH200] @regIEI MIBEIMNINILITS 621Q
B:-Excusable or done by lawful manner
B4l MEI MAMIY®ROW FTIRI@B ©21Qemd
C:-Not an offence or, not punishable
B &QOL| EPEQYEI LBlEUIB0REY
D:-All the above
HE@D AlOOMAIOWEIe
Correct Answer:- Option-D
Question85:-'A', a highly ranked police officer slapped on the posterior of a lady police officer at a dinner party in the full presence of ladies and

guests. Here an offence under section has been committed by 'A".
TJegesQe @aldegesqs ojdep mommlwiosim a8 wlma alddglel® 8@ amlmo saoellmy Boadmuges almdeonom ‘A’ agan e@dm tomes 8@ calellmy eespPMMNM @oSy).
eales sy Sldlojes 8@ @go ‘A’ eag.
A:-Section 354
eaveum 354

B:-Section 354-A
emusum 354-A
C:-Section 354-B
emuaum 354-B
D:-Section 354-D
emueumd 354-D
Correct Answer:- Option-A
Question86:-'Z', intentionally entered the burial ground of a community with the intention of insulting their religion, and dug up the graves and
erected placards with filthy words. An offence under section of IPC is attracted.
'Z', @rItes e @RAIGOEIERE: af)(h DERWEDTININS B MUPRIWODIMBEO uomEalwim mqu(a(yo @eudly), AU B:¥la] YOUTIlOBS AUVEBGBUS DaleWOUTlal oje0BuEUd
undally). IPC ges Q] (JBHIPSS BB BHHDY BRYG:AEO|FID.
A:-Section 296
emueum 296
B:-Section 297
emuaum 297
C:-Section 290
emueam 290
D:-Section 291
emuasm 291
Correct Answer:- Option-B
Question87:-An act done in good faith for the benefit of a child under twelve years of age by consent of the guardian is not an offence under IPC, but
such acts shall not extend to
dooaldeo m 6S Al QMM ©PPQYSS 6@ HSIYSS (JEWIBMOETIMIE] Mey allvelomemIes ©.21QM @yowl IPC @000 6@ SQOBY, af)TIT GO
(QYODI BB
A:-The intentional causing of death
mm:q;(ammom) DE6MEI@6Mo
B:-The attempting to cause death
UODo BEEMABIM HIEEMAIBATD
C:-The abetment of any offence, to the committing of which it would not extend
ABOOBIRje HYHOYOVIBOO Ga)@6M, @O MIgMBEY
D:-All the above
2HE@D A0SV
Correct Answer:- Option-D
Question88:-The punishment to which an offender is not liable under Indian Penal Code is
OB Wlesd MRDEIBIGe BT GQAIIE IWIMINMEPOD USley
A:-Death
Q@6Mo
B:-Imprisonment for life
=lalaleyme. msal
C:-Transportation for life
solooimiges nmonme
D:-Forfeiture of property
LI HEMFOBSTD
Correct Answer:- Option-C
Question89:-When a person enters up on the property in possession of another with intent to commit an offence, he is said to commit
GO QSO BB BYHDY OaYINEORID DEGUEOMIOS BORVEIBE HOBAILR. Alalldlenm mﬁgo.ﬂraﬁ a3@6nygeMI0U3, @P@IUE @MY 6.aIYOAM AlOWEIFIT.
A:-Mischief
6990“.!0
B:-Criminal trespass
@M@ @ROI@20
C:-Criminal force
@@ a0y
D:-Criminal intimidation
& Eoueriloa|gomad
Correct Answer:- Option-B
Question90:-The chapter of the IPC which deals with offences against the State is

© flomaileo &Q B 00y eagm IPC @eos @owpwe
A:-ChapterV
@RWHP-V
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B:-Chapter-IV
@pWHPW.-1V
C:-Chapter-VI
@pwWHo-VI
D:-Chapter-VII
@pwp@o-VII
Correct Answer:- Option-C
Question91:-Section of IPC imposes punishment for culpable homicide not amounting to murder
IPCqes Qlda], OBILIDEOTITY DEKACHOD G:YBORIW MEOMY Wlew alwlesmo
A:-Section 299
emuaum 299
B:-Section 302
emusum 302
C:-Section 304
emuaum 304
D:-Section 303
emusum 303
Correct Answer:- Option-C
Question92:-Which section of IPC provides punishment for the sale of adulterated drugs?
20@o SRIBM a@ER@M al@qjny IPCes ogo aidajosn wWlew mamama?
A:-Section 275
eaussm 275
B:-Section 274
emvaum 274
C:-Section 277
eauesm 277
D:-Section 278
emuaum 278
Correct Answer:- Option-A
Question93:-Which among the following statement is not correct?
®269a]0QMAIRI®B ag@oe udlwey?
A:-Murder is an aggravated form of culpable homicide
.ﬁ;g&(amom) MEaODMIYSS (BAHHUHAIQ @nJmOGrTT )10 o
B:-Every murder is culpable homicide
630600 6)HIRIAIDDBQYo a;ga,rom(m m(aon@‘g@amf
C:-Justifiable homicide is not punishable under IPC
mpP@a0@ Moy IPC @)d:o0. tdlemodanng
D:-Excusable homicide is punishable under IPC
IPC @@0@0 18le81080020@ ME0®Y
Correct Answer:- Option-D
Question94:-Is 'unlawful compulsory labour' an offence under the Indian Penal Code?
'deaclaeuace ddaminulo emoslad’ ey wWlewuo mloneeioe. @:Qaaesma?
A:-No, and it is not prohibited
gy, @R® mleeoulalisley
B:-Yes, and it is punishable
@REOD, GR® UBlBHUIBOAETY
C:-Yes, it is punishable only under labour law
@REO®, OMIFI MREJEHIC BIDED DD UBlBHIBAOBIET
D:-None of the above
BT AlOATHAIHDIM. @oL)
Correct Answer:- Option-B
Question95:-The word 'Year' or 'month' used in the Indian Penal Code, is to be reckoned according to
@8 Weumloaomlod 2ac@Irladlesm 'aidau.’ @REGIEIEE DMV’ af)M QIIEY IOLAIOWM @IBIBo EEMENIEEMo.
A:-The British calendar
@fiSlest B>a16n=d
B:-The Gregorian calendar
Uenadlom seaened
C:-The Indian calendar
DAY BHLIN@
D:-The SolarHijri calendar
€MO8oBaolE] Hlerrd
Correct Answer:- Option-A
Question96:-Which of the following theories of punishment is based on the concept "prevention is better than cure"?
WBlesQes @eeajoQm milabomeEBglod agoe " alelore@Eoud MmeIDY EEIWws" ag)M ERWWEOD GRSIMLAOMAIQSBMoE?
A:-Expiatory theory
) ealcQd] @ledl
B:-Reformative theory
malleesm milevomme
C:-Retributive theory
@O0 MilRLIAD
D:-None of the above
QS AOFOMAIOWIMB. @5
Correct Answer:- Option-D
Question97:-Counterfeiting currency notes or bank-notes is an offence under section of IPC.
HBBEMIGHHESEI, 611085 GMOGHHESO eemosmmm® IPC ges Qda] @B BT GQHEAEM.
A:-Section 489-A
emuaum 489-A
B:-Section 498-A
emusum 498-A
C:-Section 487
emuaum 487
D:-Section 488
emueum 488
Correct Answer:- Option-A
Question98:-In view of section 83 IPC, a person is presumed to be partially incapax if he is
emusaum 83 IPC @eos allessmonicd, & e @ouleniw @adommeaslmmoesmaT @omeacmleeagmo.
A:-Above seven years and below twelve years of age
a@¢ Q@Y geglale Al QMM @e9Qe
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B:-Above seven years and below fifteen years of age
ag$ aq@la’ geglal adimeml amilal ®eeQ
C:-Above seven years and below ten years of age
¢ AMm geglaj o A@MIN @090
D:-Above seven years and below sixteen years of age
a@$ Aq@m gegiaj adlmod aq@ln moeege
Correct Answer:- Option-A
Question99:-Which section of IPC prescribes punishment for the Abetment of an offence?
8@ @QPOKOVIN eajdlafal@ilay IPC s agoy aigajosy uwdles allullesma?
A:-Section 109
emuaum 109
B:-Section 115
emusum 115
C:-Section 116
emuaum 116
D:-All the above
ABHEI®W A0SV
Correct Answer:- Option-D
Question100:-Chapter XIV of IPC deals with offences affecting
IPC @es XIV @pwpwe sniouwlesm @:0emEe8esdlal @Jolandesm
A:-Public health
BaldDERMICEINe
B:-Public safety and convenience
610D MYOSHUQJo HTVISOYYo
C:-Decency and morals
20MNMQYe WIBBMQo
D:-All the above
ABHEI OOV
Correct Answer:- Option-D
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